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\ - Majority of world languages have............... (o]
\) thousands — speakers Y) 0 thousands — speakers
£) thousand — speakers &) 0 thousand — speakers
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Y- which one of the following sentences is correct?
\) hair and room can’t be both countable and uncountable
Y) Journey is countable, travel is uncountable
Y') journey is uncountable, travel is countable
¢) fruit and vegetable are mostly countable nouns
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Y'- what is the term most commonly used to refer to maintaining flow when writing a paragraph?
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\) cooperation Y) co-occurrence ¥') cohesion &) coherence
394 o o3laswl S1L3LL El oibel pEie 0l y2 Laks a6l sl Vsaze 1) wlsWaol 5l il -¥
plowl (€ Sy @ (¥ 33, po (¥ 5,80 ()
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&- Which one is an Organizational Cue in Lacture?
\) Intonational cues to identify the definition of the word
Y') Signals that show the speaker's intent
Y') The signal words used to enumerate the main points
¢) Special intonation and pause patterns used with appositives
Pl il yisw 5> Hlojlw aslis by 5)lgo 5l Cliolas -€
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0- Which one has a falling intonation?
\) what flowers do you like the most?
Y') It seems they hate fiowers, don’t they?
V) Do you like that flower?
&) What a beautiful flower!
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- In which of the following groups of words, the plural 's' has the same pronunciation?
\) humans / things / animals
Y) roads / countries / parks
V) forests / homes / school
) lakes / places / trees
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Y- In which groups of words below, the past suffix "ed" has the same pronounce?
\) watched / helped / used
Y') walked / washed / watched
¥') enjoyed / talked / connected
&) enjoyed / attended / received
73,1 Sl lasli"ed” S Ngaw <325 WlalS 5l 09,3 plaS ;5 -V
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A- DVD, which stands for Digital Video Disk, is an example of............ .
V) homonyms Y) blending Y) acronyms &) clipping
Cowl e, 5l digei ¢l «uwlDigital Video Disk «&éo oS -A
s5lwos o (S 03lg yuw (¥ s5Lw 0ol (V¥ gl @ wladS ()
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4- "FANBOYS" including for, and, nor, but, or, yet, and so, used in compound sentences are some examples of

Ye
PO L RO (] [N TSP Py K S 7' 9 1P Cuingmd I YA (S 31 ) g (uuads aba 21 Jad



\) conveying Y) Contrastive ¥') Comparative &) Connecting
----- GlalS 5l ldaigas Mg o o3laiwl LS WMaz )3 aS 0 ut g gid b ol @ g «sly Jol"FANBOYS" -9
oy, (S el o (¥ sbaio (Y IXVER e
Jwsl
i b WMaz o bls,l skl sl coordinating conjunctions Glgic a WlolS ¢ul) € S ai3S = m puins gwb M

(Gl gamo € aig3S Gl Ngad o o3laiuwl

Yo- " ful" in "powerful” is a/n ...vvueernss which changes the noun "power" to an adjective.
\) derivational prefix Y) derivational suffix
V) inflectional prefix &) inflectional suffix
ADIL0 i bo @ | "power” puwl oS Cuwl ----- <L "powerful® adS > "-full” -\ o
A0 Nigaw (€ S0 Mgy (W SOl Mgy (Y SOladl vgduy ()
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1 Y- What do we call the combinations of words which sound right to native speakers?
\) Collocations Y') Composition
¥') Compound nouns &) Cognate words
235,05 pU az cdwwy o I @) Cawwy3 OB Gogs sl aS lalS S5 -1 )
i, po wlalS (€ wSyo oluwl (¥ Cdigios (Y sl po wlals ()
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VY- Reading and writing are two human capacities which are ............. and............... respectively.
\) productive, productive Y) productive, receptive
&) receptive, productive &) receptive, receptive
2D e 9 e iy @ oS A Glusl slgiuB 5l 5,90 95 gy g OAilgs -\ Y
ECSNETING: Mgor 18> (¥ F8U-3so (Y Mgo-sJsa ()

Ngo w)lgo ly i g (receptive) Gidl,s W)lgo cly wilg> oSl a azgi b) 4 ¥ ai3S 1o pmins gl M

(.l mazo ¥ ain3S cuwl (productive)
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VY- What is the primary skill of conversation?
\) Reading Y) Listening Y') Writing &) Speaking
Pz aallSo Slol )lgo -1 ¥
03,8 Cuo (£ g (¥ wsls LigS (¥ oilgs ()
(390 @i ol &lgo lgic a7 035 Cumo Ugase @allSo &,lga ,3) & S aia)S 1 i sl
\ &- What is the goal of the listening part?
\) Creation Y) Construction ¥') Production &) Comprehension
2z « S U 031 GBS W)lge G 5l bas -1 €
Sy (& adgi (¥ aslw (Y &= ()
(Gl callao S5 Sigiaud Lol Ban) € S aijS 1z i Gl M
10- In what stage, students discuss and share their ideas about the listening task?
\) Second verification stage Y') Final verification stage
V) Reflection stage &) First verification stage
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Y11- Cognitive strategies and metacognitive strategies are two strategies categorized under the ............
strategies.
\) determination Y) consolidation ¥) memory &) social
Vg (50 (53 QWD .. B3 1) acgomo s aS Jitwd (53l 95 GiS bl )8 g LiSlud slas el -1
oelaizl (€ aadsls (¥ S5 (Y o ()
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\ V- Which of these activities is recommended in the while-reading stage?

Ye
PO L RO (] [N TSP Py K S 7' 9 1P Cuingmd I YA (S 31 ) g (uuads aba 21 Jad



\) Integrated bottom up and top-down processes
Y) Integrated silent and oral reading
Y) Integrated bottom-up processes and oral reading
&) Integrated Top-down processes and oral reading Choice | is correct.
() 2590,0 apogi «3lgs pRID» alzso 55 505 lowuled jl lolss -1V
oxl @ VU 519 YU @ ol 5l az,lS sloaul,d
ool g yhgols az )W) Liles (Y
polid uils> 9 Vb a2 ol 5l ez, Sy sloails (¥
ol uzwo ) 43S 55 paled GileS 9 oul @ VU Sl az, LS slaal,é (&
55503 ¢to Wiz Julo 50 (0ml @ Vb 59 Vb @ w5l slosuld wuSy) ) aigS) @ ) aiS 1o pind gl U
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Y A- what do teachers expect from students in post-reading activities?
\) To introduce students to a particular text
Y) To activate necessary schemata

Y) To check if the main idea of the text is understood &)

To provide appropriate background knowledge
235,15 5, az (post-reading) uxilgs 5l G sloculzd ) 395 Oligelyisls 51 Oledzo -1 A
(€ 5L 5,90 sl 0,lg oo s5Ludled (¥ (¥ Ol90l LIS 0 GO xio ly SBy=0 ()
Cawlio 5l iy Wloglzo ail)l Uko Glol oxl Sy a0
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(! Gio Glol o
1Q- According to Larsen Freeman (Y°1&), the main goal of teaching grammar is helping students use the
language accurately, meaningfully, and appropriately. These three goals are respectively related to which
language areas?
\) Syntax, Semantics, and Pragmatics

Y) Pragmatics, Semantics, and Syntax

Ye
PO L RO (] [N TSP Py K S 7' 9 1P Cuingmd I YA (S 31 ) g (uuads aba 21 Jad



¥') Pragmatics, Syntax, and Semantics &)
Syntax, Pragmatics, and Semantics
s9b @y 0L 51 B xS oS Olgal il ay oS Cuwl ¢l sol,S Gjgal Slol Bas (Vo) €) Larsen Freeman aisS (gab -1
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Y o- What kind of context is used when we use "the language that precedes or follows a certain structure in

discourse"?
\) Psychological Y) Situational Y') Social &) Co-text
2398 o o3l sl aiso) £95 az 5l ¢« «nlo VLaiaS H> OB LS lw 5l a2y b U8 oS by 5l eslaiwl Oloy ,> Ve
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Y')- Emphasizing the "action instead of the doer" when teaching passive construction happens in

wedge.
\) Morphosyntax Y) Semantic ¥) Form &) Use
-8l o @las] Y R 5 «dogzo HLiSlw Lijeol pEa " Jeld lo @ Joc" o 3uSU -V
oslawl (S e (¥ 2 l=o (Y 99,0 ()
gz
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Y'Y- In which of the following examples is "yet" used differently?
\) There are so many questions and yet so few answers.

Y) The cook arrived with yet another plate of cake.
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Y') She can play the piano very well, yet she can't read music at all. &)
He had been crying all day, yet the man made him laugh.
?luwlord oslaiwl iglatio jebo @y «j9i0>» 5 sl JUo I b plas )5 -YY
)13 3929 oS o Ewly OS] 9 5L Hlwn WVlguw ()
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5133 1 gl 550 Lol 392 85,5 au,S 1) 59, JS
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Y'Y~ Which of the following activities is suggested in "Determination Strategies of New Words"?
\) Asking the teacher for a sentence including the new word.
Y) Asking the teacher for paraphrasing or giving synonyms for new words.
Y) Analyzing available pictures or gestures.
&) Discovering new meaning through group work activity.
() 73050 dlgiiin «3> OladS Gusd las ol » )5 ) slocdled sl el plas -TY
2l 332 aalS Jold oS sl aloz @ilyl sl plao 5l Calgs >
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1529,5 )5 culled Gyl 5l waz slizo @ w30 2 (€
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Y&- In which Item, Word-attack technique is NOT so much effective?
\) Encoding unfamiliar words

Y) Interpreting unfamiliar words
¥') pronouncing unfamiliar words &)
understanding unfamiliar words

25,15 Gilaiz 55U Word-attack LSy caig3S plaS 5> -V'E
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Y0- What kind of strategies is applied when "comparing the new construction with one's own language by thinking
of its equivalent in the source language"?
V) Compensation strategies Y) Cognitive strategies
V) Socio-affective strategies &) Metacognitive strategies

H0 «lase 0L 5 Ol Usleo 3590 55 Oasdudil b 393 0L b a2 Hs e Cl auwglior oloj o 23,0l Egi az -VO
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Y- What dimension of teaching grammar is aimed when it is explained that "the expected action depends on
the condition"?
\) Use Y) Form Y') Semantics &) Pragmatics
?sﬁv.o)l)_'é)b.} 3o y0l,3 azy plaS 4))'39&1{ loy| )i @ HUAS 5 )90 Joe» 39u0 50 0315 Zaogi aSuilo) 55 -1
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Y'Y- Which of the following is NOT an effective paragraph attribute?
\) It directly leads the reader to the main idea.
Y) It presents a variety of entertaining ideas.
¥) It contains sentences that convey the single idea. &)

It is strategically organized to maintain flow.
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Y A- Which item is NOT a step of teaching and learning new words?
\) Practicing the words Y) Producing the words
Y) Presenting the words &) Previewing the words
P 332 OLalS 55550 9 Lgel J=1r0 3l @3S plas -YA
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YQ- When teaching vocabulary,....
\) Vocabulary acquisition should be done through deliberate vocabulary instructions
Y) Vocabulary acquisition should be done through incidental vocabulary instructions
V) Vocabulary instruction should always be reinforced with vocabulary practice and exposure.
£) Vocabulary instruction should be limited to teaching parts of speech, affixation, synonyms, antonyms,
homophones.
e Ol Gy Oloy 5o -YA
398 Pl OBy BT Lijeal G 51 b 0BSls 6rsSh3 ()
394 plail OB3lg 93Lad Gigel @b 51 b O B5lg 55158 (¥
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Y o- What is the role of structured communication exercises such as information- gap activities or cued dialogues?
\) They empower learners to monitor the special feature.
Y) They involve the learner to attend to both form and content of utterances.
Y') They arise within spoken discourse.
&) They raise the learners' consciousness.
230l S ez lailin LkeS L HleMol VS slocwld 35l aidl,lislw Sbli)l slagy red -Ve
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Y1 - Functions and notions in language teaching are considered two parts of

\) Language Knowledge Y) Four Skills
Y') Domains &) Themes
.\ngupw_,f)b.)p .......... 5l L 93 Ulgic ay (L) Uisgol ,d Eadléo g s,S,1S -¥)
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oS Ngb,e uN o (elas (B 55 103,515 g padlhs (Wgado p Liiss 3,S19) »3) C S @3S 1 m i Fwl I
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Y'Y- What makes students complain about the teacher-made tests
\) Measuring students' progress based on the classroom activities
Y) An opportunity for the teacher to diagnose students' weaknesses

¥') The ambiguity of the content of the test.

&) Providing teachers with plans for remedial instruction.
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